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Topic:- General Knowledge

1) Who was conferred the title of 'Father of the Lok Sabha' by Jawaharlal Nehru? /
STATRATd 6% GRT ‘T HHT & T P1 IUTfY fPd ugrH ot 715 A2

1. Ganesh Vasudev Mavalankar / OS] a@_c[ HATABR

2. Mahatma Gandhi / HelHT et

3. Hukum Singh / §94 Rig

4. Jawaharlal Nehru / SIdlgXdlcd aﬁ

Correct Answer :-

« Ganesh Vasudev Mavalankar / TR a@a B ICERY

2) Who among the following Industrialists won the Bharat Ratna in 1992? /
1992 # frferfea o @ fea Sehmufa 3 wRa & Sfiar

1. JR.D. Tata / S.3/R.SI.CTeT

2. Dirubhai Ambani / §REHTS STt

3. Rahul Bajaj / XTg <l duIlS]

4. Azim Premji / 3ol Yt

Correct Answer :-

« JR.D. Tata/ 3.3R.S}.eTeT

3) ‘Rose of God’ was a classic poem written by: /

T 3T TS’ TP SepP Hfaan A, St 37 gRT ) 18-
1. Rabindranath Tagore / ST TR

2. Kamala Suraiyya / pHTT AT

3. Sti Aurobindo / &} 3MRIfeEY

4. Sarojini Naidu / RIS alag

Correct Answer :-

« Sri Aurobindo / &} 3RIfaE



A six lane expressway is announced in the Madhya Pradesh budget for the year 2018-19 between which of the
following cities? /

¥ 2018-19 F T U & gote A fFfafaa & 3 1 el & div o8 a9 & Teanaa 3t aivon & 182
1. Bhopal and Jaipur / HTOTd Td SIAYR

2. Bhopal and Delhi / 10T T4 fe it

3. Bhopal and Indore / HIUTSl U9 £ER

4. Bhopal and Mumbai / ¥UTS U9 s

Correct Answer :-

« Bhopal and Indore / I Ud §ER

5) Where is the Atal Bihari Vajpayee Indian Institute of Information Technology and Management located in
Madhya Pradesh? /

7 W H 3ed fagrt arauft URdia Gear Menfiet ud udem I wel fRIa 82
1. Bhopal/'l-h'cﬂﬁ
2. Indore/@?

3. Jabalpur / SISCTYR
4. Gwalior / TR

Correct Answer :-

« Gwalior / TTferIR

6) Tawang Monastery, the largest monastery in India, is located in ./
HRA ¥ Yad 991 75, 9917 48 HfRagl

1. Arunachal Pradesh / /S0 UG

2. Sikkim / i H

3. Ladakh / dgld

4. Manipur / AOTGR

Correct Answer :-

« Arunachal Pradesh / 37U Te=T

7) Which mineral reserves are largely found in Balaghat and Chhindwara districts? /

TraTaTe 3R fRigaret o & S 91 @fAe YSR ATu® U I Ul SITar 82
1. Dolomite / @?ﬁtﬂgf

2. Coal/m

3. Manganese / O]

4. Bauxite / SId9T3C

Correct Answer :-



« Manganese / JES

8) Which Indian became the world’s second youngest Chess Grandmaster at just 12 years, 10 months and 13 days
of age in June 2018. /

DI AT YR, 7 2018 F 12 T, 10 TR 3R 13 37T B 3y A fama &1 gART oA Blel A AR
CRlk

1. R. Praggnanandhaa / 3R, URIFG

2. Koneru Humpy / CIRRSY gt

3. Viswanathan Anand / [O%=T4= 311ig
4. Ramachandran Ramesh / A% IH

Correct Answer :-

« R. Praggnanandhaa / 3/R. U3ITHG

9) The iconic ‘Malgudi Days’ was a novel written by: /
UfAfyd SU=ATH HAIeR[ST So' g GRT feram war or:
1. Vikram Seth / f[%H I3

2. R.K. Lakshman / 3{R.&. T&HUT

3. R.K. Narayan / 3R.&. AR

4. Anita Desai / Gﬁ?ﬂ é‘m‘s‘

Correct Answer :-

+ R.K. Narayan / 3R.&. AR

10) The palace built in the form of Krishna’s crown in Jaipur with 953 outer-wall windows is: /

TOR A WM & a1 F ¥ # i gga, R 953 a1edt Sar areht fesfeal afta s g, ss = 8:
1. Amer Fort / 3{TER farall

2. Hawa Mahal / §d1 Hgd

3. City Palace / 4 90

4. Kumbhalgarh Fort / PHETG fobell

Correct Answer :-

o Hawa Mahal / gdl Hgd

11) Who among the following is a Governor of a state and is also a former Chief Minister? /
fFrafafEa § @ $19 v su & Tsaure iR gd gerEt off @2

1. Anandiben Patel / 3Hcia- Ged

2. Uma Bharti / 39T HRdl

3. Digvijaya Singh / faftaerg Rig



4. Kiran Bedi / fo3ur ot

Correct Answer :-

« Anandiben Patel / 3TFela Ued

12) The only Jama Masjid in India without Minars is found in which of the following states? /
HR # o fARY arelt gam o afee Feafifea A a fra v=a 4 32

1. Madhya Pradesh / TEUC

2. Uttar Pradesh / 3TR UG

3. Tamil Nadu / df¥e g
4. Karnataka / pIich

Correct Answer :-

» Madhya Pradesh / Y

13) Which of the following National parks is not located in Madhya Pradesh? /
Frafafaa & 9 o149 w1 Wy See 9w vew § @ 18 o2

1. Madhav National Park / HIYd T@q RG]

2. Pench National Park / 09 T@H 3

3. Satpura National Park / TdgsT TI@'EI 3
4. Manas National Park / AT9YH Q‘I@’q 3

Correct Answer :-

« Manas National Park / A9 T@U ROIE

14) Indore Airport is named after .
WRESRPHFIAH__ FAH R I TATE?
1. Devi Ahilyabai Holkar / &dT 3{fgeaTaTs gleh

2. Chennamma / IAHAT

3. Chand Bibi / Tig et

4. Manikarnika / fOTa0fdmT

Correct Answer :-

« Devi Ahilyabai Holkar / &a 3f@edTaTs gledh

15) Who is the Director of Mahatma Gandhi State Institute of Rural Development and Panchayati Raj in Madhya
Pradesh? /

A W H HeTe M Irsy arivr I SR ofR dardt Ie & iR e 82
1. Ashwini Kumar Roy / 311 PHR A
2. Rajesh Rajoura / O IR



3. Sanjay Kumar Saraf / T AR ATH
4. Shiv Narayan Mishra / fRra ARTIT fArs

Correct Answer :-

« Sanjay Kumar Saraf / o] HHR IRTH

16) Chanderi town is mentioned in Mahabharata .Who among the following was the King of Chanderi during the
Mahabharata period? /

HETHRA H T3 WEx $1 Iooid f5dT T 8 | HETHRT BTd b SR AEfiad § A &9 dadt &7 ISl U12
1. Ravana / IdU[

2. Kans / &9

3. Arjun / \?F{[q
4. Shishupal / §|5§ e

Correct Answer :-

o Shishupal / QI‘{ UTed

Topic:- General Hindi

1) HYST - & fore Wl watgardt ara Wrsgi @1 ufdq & gl
1. UC, 9, 3R

2. ¢, a1, IR

3. UC, 99, IR

4. U¢, 99, IR

Correct Answer :-

. U¢, 394, dR

2) 3R TR HT I - GgTaR FT a1 T g fieai g3 s ard?
1. Toftd df TR UTE BT U I TgRT |

2. TS @l AR HTS HI geT ST gl

3. Toiid A TR HTS BT g AT 8|

4. ToNg A TR TS T ShalaT ST 2|

Correct Answer :-

. oG o TR TS HT SHAld 92T gl

3) IwM- & fog w8t Wiy fawse & gfaul
1. Sl
2. 9q+ei

3. Qo+



4. QA+

Correct Answer :-

o i+l

4) RO - P Y TR A A PT A
1. gRIATRIT

2. GART

3. GRART

4. gareT

Correct Answer :-

5) Tl - & fore wd WfY fade w1 gl
1. S+

2. Sfq+aMfe

3, SA+3M1TG

4. 3afe

Correct Answer :-

. gfa+anfe

6) 3ITRI WX U 3T - YTk 31 3 R fapeai A A par 3?
1. THYM aTel DIg B BIAT

2. 9§ UA BT

3. XGR HS o

4. g FMdbe 311

Correct Answer :-

. JHIM aTd BIs B HAT

7) 3T - SUWI 9§ 99T Weg P A A HT AT R?
1. 3RO

2. 31

3. {TERT

4. 3R]

Correct Answer :-



8) U8 ¢ 3rfa— 9 RIY =<, FA A 7| - # A9 9 A o191 A1 3ciPR 82
1. SUAT 3[APR

2. AARIANRT SR

3. EPIA 3TPR

4. I IADR

Correct Answer :-
. JUHAT DR
9) for Iuw ® IR 3T SufRAIEA &, TeT Bl & -
1. 3UHT
2. T
3. QUITGHT
4. FTH A DI T8l

Correct Answer :-

10) v A U A A P ATIHE B2
1. fg7] 9

2. 79 G GHR

3. 4g IAN

4. 3{YTHTT THTY

Correct Answer :-

11) R A TEr R te A oA A daarg?
1. ST

2. 3rfeTYy

3. 3Gy

4. 3y

Correct Answer :-

12) ggm § g # 9 S 91 9919 82
1. PHYRY JATH
2. o U

3. AT JH™



4. 3[TUTHIG A

Correct Answer :-

. PHYRY GAT

13) <3P IWF A TN FE A A pATR?
1. 3T

2. 3TER

3. JATOT-4Td!

4. UHR

Correct Answer :-

14) $Hd Dig 7 O BT Hied |

T@d a9 a1 fafes ofa, sy R v WRu- A g A d s T @
1. 3G I

2. T

3. R

4, Y Y

Correct Answer :-

Topic:- General English

1) Choose the most suitable determiner for the given sentence:

You can catch bus from this station to reach your destination, as all buses from here pass through your
hometown.

1. little
2. each
3. either

4. any

Correct Answer :-

2) Choose appropriate articles for the given sentence:

Can you switch on light, please? Sun has set and it’s dark inside room.

1. the, The, a



2.the, A, a
3. the, The, the
4. a, The, a

Correct Answer :-

« the, The, the

3) Spot the error in the given sentence:

Have everybody returned after playing football?
1. football?

2. Have everybody

3. after playing

4. returned

Correct Answer :-

« Have everybody

4) Choose the correct adverbial clause for the given sentence:

, he was making sandwiches.

1. Although we had arrive

2. In spite of arriving

3. When we arrived

4. As we arriving

Correct Answer :-

« When we arrived

5) Choose the appropriate prepositions for the given sentence:
_____chasing a bird, the cat jumped __ the window and landed ____ the soft grass outside.
1. While, through, on

2. On, from, in

3. During, at, on

4. At, along, in

Correct Answer :-

« While, through, on

6) Choose the appropriate verb to complete the given sentence:
Canyou __ me the way to the bus stop, please?

1. show



2. showing
3. showed
4. shown

Correct Answer :-

» show

7) Choose appropriate conjunctions for the given sentence:

Dad would finish having his soup___ the rest of his family, ____ he liked to have it hot.
1. whether, for

2. while, so

3. before, after

4. before, because

Correct Answer :-

« before, because

8) Choose the option that is appropriate to fill in the blanks in the given sentence:
Teachers have to generally _ their students so that they _ well in their studies.
1. motivating, performing

2. motivate, perform

3. motivation, performance

4. motivated, performed

Correct Answer :-

« motivate, perform

9) Choose the option that best transforms the sentence into its other voice:

This house is cleaned everyday by the cleaning woman.

1. Every day, this house is cleaned.

2. The house is being cleaned by the cleaning woman.

3. The cleaning woman is clean the house everyday.

4. The cleaning woman cleans this house every day.

Correct Answer :-

» The cleaning woman cleans this house every day.

10) Choose the option that best transforms the sentence into its other voice:
The candidate has written all the answers correctly.

1. Answers are written correctly by the candidate.



2. All the answers were being written correctly by the candidate.
3. All the answers have been written correctly by the candidate.
4. All the answers are being written correctly by the candidate.

Correct Answer :-

« All the answers have been written correctly by the candidate.

11) Choose the option that correctly spells the words to be filled in the given sentence:
The of the school said that the boy behaved like an .
1. principle, angle

2. principal, angel

3. principal, engle

4. principel, angle

Correct Answer :-

« principal, angel

12) Choose the correct form of tense for the given sentence:

In ancient times, hostages __ as security on a treaty.

1. were taken

2. had taken

3. was being taking

4. are taken

Correct Answer :-

« were taken

13) Choose the option that is closest in meaning to the highlighted word in the given sentence:
Naina gets very angry over trivial matters and is unable to control her temper.

1. immense

2. huge

3. crucial

4. small

Correct Answer :-

o small
14) Choose the option that best fills in the sentence:
Of the three brothers, Ram is

1. oldest



2. the eldest
3. the older
4. eldest

Correct Answer :-

o the eldest

Topic:- General Mathematics

1) In AABC and APQR,if AB=AC, 2C = 2P and £B = 2£Q, then the respective two triangles are:/
AABCUGAPQR #. 37 AB=AC,,C=/PamM/B=,sQRI dg a=l 8§l

1. Isosceles and congruent / ‘v’lﬂﬁ'ﬂ'@ JUT IaTHH

2. Isosceles but not congruent / ‘GIII'@TSHTQ' Afes Fafmey 8l

3. Congruent but not isosceles / BSERINERICE] W@E’IE 8l

4. Neither isosceles nor congruent / ar Wﬁa@ g Jatmay

Correct Answer :-

« Isosceles but not congruent / W@E@ AP gafmaa Bl

2) A letter is chosen at random from the letters of the word '"TRANSISTOR'. The probability that the letter
chosen is a consonant is: /

W'TR%NSISTOR*$JN®WJ&RHE%W®WWW| TG 3R TP o g, TP
uTﬁﬁT :

Lo

4.2

Correct Answer :-

3) If a solid cube of side 14 cm is cut into 8 cubes of equal volume, then the surface area of the new cube is: /
Tfe 14 A fFPAR 91 TH S U1 ) TUH I a1at 8 U1 § HTeT ST 8, 99 -T¢ - &1 Y¥ig 8% d 3:
L 294 cm? | 294 J#HY

5. 302 em? / 302 &Y’

3 186 cm? / 186 T



4 252 cm? | 252 ¥’

Correct Answer :-
. 294 cm? / 294 FHY

4) What will be the unit’s digit in square of 589762 /
58976 & I H SHTS BT 3P T H?

1.4

2.2

3.3

4.6

Correct Answer :-

5) The distance between the parallel linesy—-8=0andy+1=0is __ ./
mmﬁy—8=0®y+l=0a§mﬁ§'\ﬁ_%l

1.8

2.7

3.1

4.9

Correct Answer :-

6) A cone, a hemisphere and a cylinder stand on equal bases and have the same height. The respective ratio of
their volumes is: /

ww%wmﬁww,wﬁwww@m?@ﬁﬁm@w%laq%enu?ﬁﬁ'm
U §:

1.1:2:1
2.1:2:3
3.2:3:4
4.3:2:1
Correct Answer :-

e« 1:2:3

7) A factorof p(x) = 7x% — 4/2x— 61is: [
p(x) = 7x2 — 4/2x — 6 & UF IUIES §:

5
1.x+\,2



=
2.x+\,3

S
3, 4x + 32

5
4 Tx+ 3v2

Correct Answer :-

L 7x+ 342

8) AABC is inscribed in a circle with center O and if #BAC = 2x and £BCO = 2v, then which of the
following relation is CORRECT?/

tha O drel Uh drd # AABC 3dded fmar aram & 3K afg 2BAC = 2x wd £BCO = 2y &, o
SFATAET & ¥ Fia | H@ae "5 87

1 xty=45°

2. x—v=43°

3, x+y=90°

g E=y=90F°

Correct Answer :-

11 —13
9 On multiplving e with additive inverse of 12 0 WE get: [/

Zar 2 & oo faed & A0 AT &% W, 8 #4T ol g &

20 14

132

1. 173

—216

5. 925

143
3, 280

—190
4 153

Correct Answer :-

10) The complement angle of the supplement angle of 150%is _ _ /
150° aTeY HYLSH HIOT T [k T _____ 81

1, 70°

5. 90°

3, 60°

4, 30°



Correct Answer :-

11) ABCD and AEFG are two parallelograms. If #C =38° then £F=__ ./
ABCD 2l AEFG &1 AR Idefal 81 afg £C =58> dd «F=__ Bl

S
B
1. 36°
2, 20°
3. 58°
4 32°

12) If 2a—3b =235, then the value of 82° —27b* — 90abis ./
gfg 2a—3b=5dd8a’ —27b —90abHFT AR ___ 21

1.25

2. 100
3.225
4. 125

Correct Answer :-

« 125

13) 2nx 4n x g1-n=2

1.4

2.8

3, 2n-‘-1

4, 4n+ 1
Correct Answer :-

- 8

14) Simplify: b s v‘a (xy)? . where X and V are positive real numbers. /
x2y? -+ (xy)? 1 TS &Y, 6T X dUTY HellcA® aRdideh T ol




Topic:- General Logical Ability

1) Dipa is seven years older than Shikha. Fifteen years ago, Shika’s age was three quarters of Dipa’s age. Find the
present age of Dipa. /

$ur, Rrar A 91 919 91 21 Usg 919 ugd, Rrar 1 39 Srur ) 39 $ i dvurg B Stur i adwa 3g
qarsul

1. 36 years/36aﬁ
2.42 years [ 42 Gl
3.43 years /43 Gl
4. 41 years / 41 ay

Correct Answer :-

e 43 years /43 a'sf

2) 60% of the populations of a town are males. If the total population of the town is 76000, then find the
population of females in the town. /

TS G B STET! | 60% TEU 3 1 TfS MG Bt Fa AETEL 76000 8, A 8- A Afgenait Ft srardt sarsul
1. 30200
2. 30600
3.30000

4. 30400

Correct Answer :-
« 30400

3) Find the length of a bridge, which a train 120 meter long and travelling at 54 km/hr can cross in 20 seconds. /
I Y B TETS FId DY O 120 HeX T YIS}, 54 forfi/eier Y are @ =ad g¢ 20 9968 § TR 32 Al 21
1. 170 m / 170 HieR

2.190 m / 190 HieX

3.180 m/ 180 HIY

4.160 m /160 iR



Correct Answer :-

« 180m/ 180 HicR

4) By selling a horse for Rs. 670, a tradesman would lose 5%. At what price must he sell it to gain 5%? /

670 3UT H TP G P STHR ATIRY 1 5 Ufa=ra &1 g1 gt 1 5 ufa=ra &1 ary ured #33 & e 39 ais &)
faq g W ST BRI

1. Rs. 737.40 / 737.40 %UU
2. Rs. 740.52/ 740.52 ¥UQ
3. Rs. 738.52/738.523UQ
4. Rs. 736.40 / 736.40 >UUQ

Correct Answer :-

« Rs. 740.52 /740.52%4UQ

5) In how many different ways can the letters of the word ‘GAMBLE’ be arranged? /
fram fafi=r a8iel @ =g ‘GAMBLE’ & 31&RY &Y arafRyd faran o awar 82

1. 720

2.710

3.730

4. 740

Correct Answer :-
« 720
6) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the centre. Q is not the
neighbour of P or R. M is second to the left of T and third to the right of P. R is third to the left of N, who is to the
immediate left of T. L is second to the right of P.

Which of the following is definitely true? /
1 & 718 e B eaFYdE ue SR IR T U T IR S|

3TS EGH; L, M, N, P, Q, R, S, 3R T TP J@TPR B & IRY 3R TP gax Pt 3R g HIb a3 gL Q, P AT
RETTSIATH I M, T I1T R ORI 8 R P F N AR AMTZI R, N F I SR AT, M fr 1 &
SNFIUEIL, PFH W GRIRI

frAfafea § @ o1 arafds ¥ 32

1. Q is to the immediate right of S. / Q, sﬁsmm ShT%l
2. MisbetweenNandQ./M,NShTQa'TapHﬁ%I

3. R is to the immediate right of P. / R, P%%ETQ@T%I
4. R is between P and S./R,PGhTS%_@ﬂ?Tﬁ%I

Correct Answer :-

« R is to the immediate right of P. / R, P & 3IH and 3R %I



7) What must be added to each term of the ratio 5:11, so as to make it equal to 3:4? /
SUTd 5:11 & WD Ug | fhaa1 SIS ST T8, a1feh 39 3:4 & SRTaR ST off ADh?
1.12

2.13

3.10

4. 11

Correct Answer :-

-« 13

8) A dice is thrown. What is the probability of getting a number greater than 2? /

TP Ui &) BT a1 21 2 9V e H:m ured 34 &1 uiliedr a1 82

=
1

N
Lad | =

d | b

b | 2

4.

Correct Answer :-

9) Rs. 1500 is invested in two parts such that if one part is invested at 6% and the other at 5%, the total interest in
one year from both investments is Rs. 85. How much is invested at 5%? /

1500 $UT $I & i) & 39 UpR fawr far wirar g 7 ue 2w, 6% W o= foean Sman @ sk Il #15%
%?ﬁ%m%mm%,aﬁﬁaﬁﬁﬁwaﬁﬁwssmmmmamﬁlS%W%mwﬁamﬁmm

1. Rs. 450 / 450 YU
2. Rs. 550 /550 %4Uq
3. Rs. 500/ 500 ®UU

4. Rs. 400/ 400 >UU

Correct Answer :-
e Rs.500/500 %44

10) In a certain code, BEAN is written as ABNE and SALE is written as LSEA. How is NEWS written in that
code? /



TS Af8d ®1s H, BEAN &1 ABNE 3fR SALE &1 LSEA & & U H forRaT 911 81 59 ®ls § NEWS &1 9 forar
STE?

1. SNWE
2. WNSE
3. WSEN
4. SNEW

Correct Answer :-

+ WNSE

11) In a certain code, DIARY is written as @5*%4 and LOOK is written as $##3. How is LOAD written in that
code? /

% fAf¥d Fs §, DIARY B @5+ %4 3R LOOK & $#3 & ¥ H fRar oira1 31 39 #18 # LOAD &) fry
UHR feraT s

1. $%@*
2. $#%*
3. $#*@
4. $#@%

Correct Answer :-

12) If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many days will 1 man, 1 woman and 1
boy together take to finish the same work? /

afe 2 ToY 41, 6 UIRATE 41, 4 ASP TP BTH @I 88 fa11 i WH &Y IPd 8, A I BTH B TH $1 & e 1
oY, 1 Afgar 3R 1 a5 &I fban e e

1.97
2.96
3.95

4.94

Correct Answer :-

13) Find the average daily expenditure of a man in 2017, who spent Rs. 76310 in the first-half year and Rs. 87940
in the last? /

2017 A TP i & 3N Sf e =09 P71 g1 eme, foa ugell THTE A 76310 3T 3R 3nf@d oard &
87940 ¥UY W fpu?

1. Rs. 453 /453 30U
2. Rs. 452 /452340

3. Rs. 450 /450 %UU



4.Rs. 451 /451 >UU

Correct Answer :-

« Rs.450/450 24U

14) Look at the five numbers given below:

851, 743, 624, 319, 298

If the positions of the first and the third digits in each of the above numbers are interchanged, then which of the
following will be the third highest number? /

= & 7y Semnei @) 39

851, 743, 624, 319, 298

Tfe SR <t 1 TEmail F ugelt 3R T "' w3y A 9ed f3ur Srar 8, 9 @11 @ I A9 g9
I=dH &I g

1. 624
2.298
3.319
4.743

Correct Answer :-

. 624

Topic:- General Science

1) Who discovered the presence of electron in an atom? /
TS URHIY] | gaaeid &1 IURATd &t @it foad 312
1. Chadwick / JSfd®

2. Niels Bohr / e aR

3. Rutherford / XX 1S

4.1.J. Thomson / ST, YIHIA

Correct Answer :-

« J.J. Thomson / SIS, YT

2) Identify the plant tissue that is not a type of meristem./

39 YIS Sdd B Ugd FITE ot fh Uep Uk &1 fausiids (AReH) 781 81
1. Lateral / 1JIT”a; (é?ﬁ“l)

2. Intercalary / Hmﬁﬁg @Wﬂ)

3. Apical / TSR (QfiwHa)

4, Xylem / SIS CTH

Correct Answer :-

o Xylem / SITgcH



3) is used as a fuel in nuclear reactors. /
BT YR AfHP 1y Ruded § €49 & w0 # fsar st 81
1. Co-60
2.P-32
3.1-131
4, U-235

Correct Answer :-

« U-235

4) Which one of the following suggestions is effective in controlling air pollution? /
=l gamal & | $19 91 9y uguur &) Fifa s 3 gurdt @2

1. Driving diesel vehicles /WWW

2. Using fossil fuel as a source of energy / mf%@ﬁ%mﬁmgﬂqmmﬂ

3. Using alternate sources of energy/ﬁf%W@?ﬁWWW

4. Having industries far away from human dwellings / REIUICIRCICE] GHHW@TEEH?‘RWT

Correct Answer :-

« Having industries far away from human dwellings / ST &1 AT s{mﬁagagm

5) Which one of the following is a homogeneous mixture? /
Frafafad 9 3 ®19 w1 ¢ e fagore?

1. Saline water / WIRT Sic]

2. Butter / HRA

3. Distilled water / 3T SIcT

4. Blood / Ydad

Correct Answer :-

« Saline water / WIRT S[cl

6) The method used to separate petrol from crude oil is: /

Fad A | U DY TR HA & 1T ITART Ft <1 aredt 3t g:
1. Simple distillation / HTYRUT ATHIT

2. Fractional distillation / 3{ITRI& I

3. Steam distillation / HTJ HTHI
4. Chromatography / DU

Correct Answer :-

« Fractional distillation / 31T 3MTaq



7) The velocity of an object at any given instant of time is called .
e s ffarmusagaIaT___ FEAEre

1. Instantaneous velocity / TTeer{orsh a7

2. Variable velocity / TfadT a1

3. Average velocity / 3 a7

4. Uniform velocity / ToHEHTT 3T

Correct Answer :-
« Instantaneous velocity / ATeeTfoTsh 2T

8) What would be the momentum of the bullet and the gun before firing? /
TIAT TATH & TG AT 3T TGH HT T F9T G2

1. The momentum of the bullet and the gun before firing would be zero / T FATT & Tgel TIAT 3T TG HT HAT L
g

2. The momentum of the bullet would be more than that of the gun / STt T Ha T, S5 I AT | SATeF T
3. The momentum of the gun would be more than that of the bullet / SEF FT FaT, AT T TAAT | AT FITI
4. Both would have certain velocity and so have the same momentum / &1 & RE) AT @TIT S ZEforT FHT "4 T g

Correct Answer :-

« The momentum of the bullet and the gun before firing would be zero / Tt FATT F TZl TIAT T AFH HT HAT LT
g l

9) The structure observed by Robert Hooke under the microscope was: /
qeAell & Siafa Iead g GRT AfEd o 18 T At

1. Onion peel / WIS T fesctapt

2. A slice of cork / WWWW

3. A flower / Udh Tl

4. A seed / Tdh Cic|

Correct Answer :-

« A slice of cork / FIdh BT TP GHST

10) The frequency of wave with time period 0.05 s is:/
Y 3afY 0.05 THS Afgd a1 ot rgiy g

1. 20 Hz

2. 500 Hz

3.2Hz

4.50 Hz



Correct Answer :-

e 20Hz

11) How will the force between two masses m1 and mz placed at a distance “d” change, when the
masses are doubled and the distance between them is halved? /
‘4 T U T T A m1 3R ma F A1 I F qRATT g, 5T I FeAHA SR H1L

1. Force becomes 16 times the initial force / a7 Y% &< FT 16 AT 1 SATAT € |
2. Force will be halved / &/t &It g1 SITUMI

3. Force will be doubled / & AT & STURTTI
4. Force will not be changed / a1 af&d A48T gHmI

Correct Answer :-

- Force becomes 16 times the initial force / &/ T a1 T 16 AT &1 JTAT 2 |

12) As per Whittaker’s classification, which of the following is not a Kingdom name? /

Few & TIfe0 & uR, Frafafaa & & #1931 v\ &1 7 98 32
1. Bacteria / SeIRam

2. Fungi / $dd

3. Plantae / @ic

4. Animalia / TR

Correct Answer :-

. Bacteria / S&ifan

13) Which of the following is not an acute disease? /
frafafea 3 9 919 9 te 1R fart 75 22

1. Cancer | R

2. Elephantiasis | Biearg

3. Diabetes / AYHT

4. Common cold and fever / Wﬂﬁﬁ?@@ﬂ

Correct Answer :-

« Common cold and feveerﬂE‘f\?ﬁT@"@R

14) A girl is canrving a school bag of 4 kg mass on her back and climbs up a hill of height 300 m in

20 mimtes. The work done against gravity is (g=10m/s?)- /

Us A5l o e 96 W 4 FFelanH G A # Thd 49 3oT 1@ ¢ R 20 e
# 500 Hex Fa HT TBTSt W A ) TEcaruer & fawe R wr a g
(g=10m/s?):




1.2X10° )
5 2X105)
3, 2X 105 )

4. 2X10%)

Correct Answer :-

. 2X10%)

Topic:- General Computer

1) In MS word 2010, shortcut key to undo performance is: /
THTY T8 2010 ¥, 3 WHTHY HI1 & fore Aicwe #1 &:
1. Ctrl+A

2. Cul+Y

3. Crl+U

4. Cul+Z

Correct Answer :-

o Crl+Z

2) ROM stands for __ /

A @RANTH HTYUiwT gl

1. Read Only Memory / 1S 3ia TR
2. Read Only Message / 3rs 3felt AOw
3. Read Of Memory /S 3 AERY

4. Ride Only Memory / X138 3Tl AHRT

Correct Answer :-

« Read Only Memory / 38 il AERT

3) Where does the formula bar present in the MS Word 2010?/
THTH T8 2010 H BTHAT IR $ai Hivjg siar 82

1. In review tab / ﬁal%_&’

2. There is no formula bar in MS Word / THIYH ats‘ A ﬁ's‘ qﬂ—\lﬁi?ﬂ EIR ﬁ@?ﬂ % I
3. In insert tab / 37\‘4_(,‘: %a "

4. In home tab / Eﬁ'ﬁf%af[

Correct Answer :-

o There is no formula bar in MS Word/waéﬁﬁéqﬁ%aﬂﬁmél



4) Where does the file name appear on the MS Word window? /
THTH 78 38 W wige &1 4w Fei fowrs dar @2

1. Title bar / CIgCdl dR

2. Ribbon / R

3. Status bar / }TH IR

4. Home bar /E;Tqaﬂ

Correct Answer :-

« Title bar / CIgCd dR

5) From the given chemical formula, H20 what does 2 appear to be in MS Word 20077 /
THTH s 2007 A, U are arafde g H0 & 2 $I [0 UER vaidid T S

1. Belowscript / farepie
2. Superscript / W

3. Bottomscript / SicHwhI@
4. Subscript / BICREHlved

Correct Answer :-

« Subscript / BT el

6) Which among the following can store a large amount of data? /

frrafafad § A 914, ST 31 IS 961 &) WR B JodT 22
1.CD/ TSt
2. Hard disk / 8TS f&%h

3. RAM /XH
4. Floppy disk / TiTd f&¥h

Correct Answer :-

« Hard disk / 8T8 f3%p

7) Which among the following is NOT ‘Page Border’ Setting in MS Word 2010? /
ey 93 2010 ¥, FAufafad 7 S #1991 e aise Afdr T 82
1. Box / Sl

2.3D /381

3. Peculiar / W

4. Shadow / 52 S;l

Correct Answer :-

« Peculiar/ ﬁaql%«m?



8) In MS Excel 2010, sparkline can be accessed from: /

THTH TR 2010 B, TIbATS BT SUART T8t A far o1 g 3:
1. Insert tab / $9C ¢§

2. Design tab / f&oTg ¢9

3. Formula tab /FPT\IJ%T |

4. Review tab / Reg g

Correct Answer :-

o Insert tab / EH_CF ?a

9) In MS Excel 2007, where can you find the charts group?/
THTY TR 2007 H, 31T A1 YU HET T Thd 82

1. Home tab / Eﬂ?ﬁ‘q’

2. Page Layout tab / Ul 33T e

3. Insert tab / ET\EI_CC %H

4. Formulas tab / tIO—\IJ"-:IET |

Correct Answer :-

o Insert tab / QT\‘TCF %a

10) In MS Excel 2010, the shortcut key to apply or remove bold formatting is: /
THTY TR 2010 H, SeS BTHIET & A1 - a1 fwpreq & fore xiidee #1 8:
1. Ctrl+4

2. Ctrl+3

3. Ctrl+2

4, Ctrl+5

Correct Answer :-

o Ctrl+2

11) In MS Excel 2007, to remove the outlining from your worksheet, choose the option from the
submenu under the ungroup button. /

m?azomﬁ,mﬁaﬁzﬁammﬁﬂaﬁsaﬁ%m,wm%mmﬁ
fawea 79|

1. Clear / IR

2. Clear Outline / IR HI3CdIg
3. Outline / T3l

4. Bottom Outline / 1¢H 3T3CATZA

Correct Answer :-



« Clear Outline / TR 3T3ed Rl

12) In MS Excel 2007, to trace errors and show the cells that are referenced in a formula, we use
buttons. /

THTY TR 2007 ®, e &1 uar v iR widar # Teffa det # fiwm & forg, 5w e
ST ITART A 8|

1. trace formula / aﬂ q'fllji?ﬂ
2. trace / ?\g
3. formula auditing /tl'fﬁi(_“l'[ 3fifgfe

4. formula / U’T‘IJ%T

Correct Answer :-

« formula auditing / WI\'%T 3ifefe

13) In MS Word 2010, sheet has its length and breadth as 5.83 x 8.27 cm. /
e as 2010,  <fic F dag 3R ST 5.83 x 8.27 . At 1

1. A6

2. AS

3. A4

4. A3

Correct Answer :-

« AS

14) In MS Excel 2007, you can design a worksheet in such a way that data is formatted differently, based on the
values the data assume at any given time. This is called as i

THTH TR 2007 H, 3TY Tk gH e &1 59 avg I fSHs &% gard € for frsdt oft 3w wr e et arf
%?enmwéasm-amwﬁaﬁmws‘nsﬁ PEISEI g

1. Unconditional Formatting / 3B SIS WA
2. Conditional Formatting / H I WIATCT

3. Formatting / BT

4. Data Formatting / ST HIAfeT

Correct Answer :-

« Conditional Formatting / & ST WA

Topic:- Electrical and Electronics Engineering

1) Electronic ohmmeter uses OP-AMP as a/an: /

sATe-P HHIER op-AMP FT ITTNT f & U | H3d &:
1. Summer / gAY



2. Multiplier / e IR
3. Integrator/gé TR
4. Buffer ampliﬁer/WQWﬂ'W

Correct Answer :-

« Buffer amplifier / WW

2) The oil that is used in a transformer should be free from: /
SIBIHR # yged g1 aren dd =1 | gaa g wiRT:
1. Sulphur / Heth

2. Sledges/m

3. Moisture / THT

4. Gases /T

Correct Answer :-

« Moisture / T

3) How many wattmeters would be required to measure power in a 3-phase, 4-wire system? /
3-Bd, 4-910R R s § uTaR & 7194 & forg foram diedies o1 smazaedar giil?

1. 4 wattmeters / 4 GIcHICR

2. 3 wattmeters / 3 dIcHICY

3. 2 wattmeters / 2 ICHICY

4. 1 wattmeter / 1 dICHIC

Correct Answer :-

« 3 wattmeters / 3 dlcHIER

4) Which among the following countries has the biggest coal reserve in the world? /
el o 9 fa 3w ¥ foza &1 9a g31 PIgen WsR 32

1. Russia / =9

2. India / HRd

3. United State of America / g XY 3R

4. Australia / Gﬁ,@\ﬁrﬁﬂ

Correct Answer :-

« United State of America / gad I AR

5) What is a reactance relay? /
Ruaea a wr gt 82
1. It is a static relay. /ﬂ?%ﬁﬁ%l



2. It is a directional restrained over-current relay. / g U TS Had W-Wﬂﬁ?l
3. It is a voltage restrained over-current relay. /Wmﬁuﬁﬁ W-Wﬁﬁ%l
4. It is a voltage restrained directional relay. /W@WWW%%I

Correct Answer :-

« Itis a directional restrained over-current relay. /Ué’wﬁmmﬁtrﬁﬁ W-Wﬁﬁ%l

6) What is Eureka? /

SYIPT AT 82

1. Itis an alloy of iron, chromium and aluminium. / Jg TR, aﬂﬁma%rrmyﬂﬁmaﬁﬁ%rmfﬂ?ﬁ%l
2. It is an alloy of nickel and copper. /Wﬁﬁﬂaﬂﬁaﬁﬁfﬂiﬂﬂ@?ﬁ%l

3. It is an alloy of nickel, chromium and aluminium. / g fAfdbd, ﬁﬁmmnwyﬂﬁmﬁ&f&rma?ﬂ%l
4. Itis an alloy of nickel and chromium. /%ﬁ%aﬁﬁm&ﬁﬁr%mzﬁ%l

Correct Answer :-

« Itis an alloy of nickel and copper. /Wﬁ%ﬂﬂ'@ﬁﬁ%ﬁlﬂ@?ﬁ%l

7) What is the full form of PID? /

Hremgst &1 qf Fu s @2

1. Proportional Integral Derivative /mm@ﬁaﬁa

2. Proportional Integral Device /mmm

3. Programmable Integral Device /mmm

4, Programmable Integral Derivaﬁve/mmm

Correct Answer :-

« Proportional Integral Derivative /U@Qﬁﬁ%ﬂ'ﬂﬂ sfvafea

8) What is the full form of IFMA? /

IFMA BT Uf U a1 g1 82

1. International Facility Management Association /WWWWQ@W
2. International Facility Management Academy/s‘fﬁwwmﬂm

3. Indian Facility Management Academy /WWWW

4. Indian Facility Management Association /g%uq%ﬁr%ﬂﬂﬁaﬂ?q@ﬁwm

Correct Answer :-

« International Facility Management Association / s'azfm 7 iyferet AAsHe Qéli%l@l:l

9) What is the alternate name of Arc Welding? /

3T AR 1 B RIS A0 FATR?
1. Pressure welding / SR afegT



2. Butt welding/a_g'a'%"[
3. Non-pressure welding/qﬁ-ww
4. Plastic welding | WIRe afegT

Correct Answer :-

« Non-pressure welding / i - URR afegT

10) What is the condition at which a transformer gives maximum efficiency? /
frafafea # @ a5 914 W fRAfT 3 s 913 e R siltiean sriem giars?
1. When iron loss is greater than copper loss / SId Wa}’m, PR AT I Wsﬁm%l
2. When iron loss is zero / SId Wa\m@m%l

3. When iron loss equals copper loss / SId WEVW, Waﬁ%wsﬁél

4. When iron loss is half of the copper loss / SId &nm——rrﬂ”a PR AMG BT &TﬂTEﬂTﬂ%I

Correct Answer :-

« When iron loss equals copper loss / SId WGVW, ﬁwa’m%wsﬁ%l

11) The co-efficient of adhesion is high when .
TR F HEPN SRS 3 Bl 3, e

1. the rails are oiled /iﬂé?ﬂq?fl

2. the rails are wet / Xd Tiet 81|

3. the rails are dusty / Y& W@I

4, the rails are dry /iﬁ{@ﬁfﬁl

Correct Answer :-

« the rails are dry /iﬁﬁ@ﬁiﬁl

12) For lighting a passenger coach of a long distance train, how is power provided? /

el gt arelt YemSt & U g fes | argfen & g, uiar & wer @t W 82
1. Directly from overhead electric line /ey mﬁmwﬁl
2. From individual generator of bogie and batteries / T & 3T STRex aYT Sl 1

3. From the rails / Y& T
4. From the locomotive / AIB AT |

Correct Answer :-

« From individual generator of bogie and batteries / anft & ST SReR 9UT Sl Al

13) Ballistic tests are used in magnetic measurements to determine: /
T Iy a1l ® fAe & Rufor & R sfeafes ae o1 3uah fear wrar @:

1. iron losses in the specimen only /



Had Uiy H TR Al
2. B—H curve of the specimen only /
&I YfeRed & B-H Hd
3. hysteresis loop of the specimen only /
Had Uiy & fgee R qu
4. flux density, magnetizing force and B—H curve and hysteresis loop of the specimen /

UfeReT & Tre SRIST, AMergfoiT B Td B-H d U9 3R qu

Correct Answer :-

« flux density, magnetizing force and B—H curve and hysteresis loop of the specimen /

UfoReT & TeierT SRS, BeTsioi Wi Td 8-+ %d Td fexexRa qu

14) The drive that is suitable for mines where explosive gases exist is a .
98 g13d f1 & ot @l & g Suge g1t 3, et faepies A Hivyg gt &:
1. petrol engine /ﬁlaﬁsﬁl:l

2. diesel engine /mgﬁ:{

3. steam engine /EQIT{EGF{

4. battery engine/éﬁﬁgﬁﬁ

Correct Answer :-

« battery engine/aaé o

15) What are the components of a digital multimeter? /
= 5 @ 919 w1 fSforea adiiier 1 9aes 82
1. A comparator and a pulse generator /

Teh B 3R Ueh U SFReR |

2. An attenuator, a rectifier and a filter /

TP 3CYUCR, T aFHRR 3R T fheex |
3. An alternator, an ADC, a display and a recording mechanism /

Th ey, U TSI, U ST 3R Uep Repifat AbfeH |
4. APLL and a counter /

% YITaed 3R U6 S|

Correct Answer :-

« An alternator, an ADC, a display and a recording mechanism /

T 3fceRer, U TSI, Uah feaa) 3R ua Rapif&n A |

16) What are fault diverters basically? /

Piee 3R Ta ©U A | eI 82



1. Fuses / W]l
2. Relays /R

3. Fast switches / TIC g
4. Circuit breakers / Gfhe SBR

Correct Answer :-

« Fast switches / TRC &gd

17) If a material is to be used for fuse, then which of the following properties should it possess? /
e B1g arht v & e wgae g1t 8, o Sud o o @ & an qur g aifitwe
1. Low melting point and high specific resistance / e T auT 3= fafdee uferiy
2. Low melting point and low specific resistance / A= et gyt e fafre uferty
3. High melting point and low specific resistance / I T adT = faferee gfariy

4. High melting point and high specific resistance / 3<d T dUT 3<d fafRree ufaRie

Correct Answer :-

« Low melting point and low specific resistance / 11 TTaTies T f fafRee wfeRiy

18) Creepage distance is the .

B fewcd A 8:

1. distance between two poles /
3 W & A Bt g

2. distance between ground and the highest earthed point on the equipment /
Yo e fordt SuasRor & a1 fory U Seaaw foig & wem &1 g

3. shortest distance between two conducting parts along the surface of the insulating material /
AT IR & Gdg o FHMIR &l Irad HET & T8 GAad gul|

4. shortest distance between two conducting parts along a stretched string /
T U IR & GHFIR &l Idd YT & T8 FAdd g1t |

Correct Answer :-

« shortest distance between two conducting parts along the surface of the insulating material /

AT Tt B Tag & FHMIR &l drdd YT & T8 gAdH gil|

19) Which of the following instruction says "greater than or equal"? /

frafafaada s GEI,%QT 3 qardr  WIR (greater than or equal)” hgdl %?
1. GEQ

2. GTE

3.GTT

4. GOE



Correct Answer :-

« GEQ

20) Which one of the following is a good application for PLC timed interrupt? /
frafafea & @ 919 91 Teftew puc eTsts Seve & g s 32

1. A PID function block / T PID ThaRH sl

2. A communication function block / QWHWW

3. A math function block. /Qﬁqqﬁﬂqﬁvﬁ?

4. A motor start/stop rung / T e e 1

Correct Answer :-

« APID function block / T PID ThaRIF sdidh

21) Which one of the following is an input device to PLC? /
el # @ o9 W doasdt 3t e 3ge Raga @
1. Motor starter / AIeR I

2. Solenoid / FITHITS

3. Relay /R

4. Sensor / TR

Correct Answer :-

« Sensor / U

22) Which one of the following is a part of the tower that is buried under the ground? /
frfafEa & @ ot 1 feeft efar 31 98 Y 8, o Y & iR meT omen 82

1. Strut inclined support/EA_Cr3'_‘%"-'37\"5G'Ch_cF

2. Anchor/w

3. Braces / SN

4, Guy wire /ﬂTE'aT“CN

Correct Answer :-

« Anchor/ Q‘ D

23) Which one of the following is an example of plastic welding? /

frafafea 9 @ o9 1 fdew wiiRes a1 3arru 32
1. Resistance welding /I afegT

2. Gas welding/ﬁga'ic'l‘é';j'[

3. Arc welding / 31 afeET

4. Thermit welding without pressure /mmaﬁ %rﬁ?a%'ﬂ



Correct Answer :-

 Resistance welding /I afegT

24) In high voltage transmission, why are the conductor lines suspended from towers? /

S giecs & TR H, HSdeX A8 Pl <lax o I ACHIT STl 82

1. To increase clearance from ground / H&[@@W%—m

2. To reduce wind and snow Ioads/WQﬁﬁ% lﬂ?ﬁﬁﬁﬁ?‘ﬁﬂ

3. To reduce clearance from ground / @@@ﬁﬁm%m

4. To take care of extension in length during summer/ﬁﬁﬁﬁﬁﬁ@@ﬁ mﬁw%r%%m

Correct Answer :-

« Toincrease clearance from ground / Hﬁ[@@m%ﬁﬂ

25) In a conductor, the effective resistance and the ohmic resistance are the same, when i

<t arere &, ywrdt ufoRy T siifres wforkiy a9 w9 §1d €, 519

1. voltage is Iow/mﬁr‘[ﬁl

2. power factor is unity /WWW@I

3. current is in true sine wave form / WWW%WﬁEﬁI

4. current is uniformly distributed in the conductor cross-section / ATA® & W-Wﬁ YRT T =0 ¥ faaikd g1l

Correct Answer :-

« current is uniformly distributed in the conductor cross-section / TTAD & W-Wﬁ meﬁﬁﬁﬁﬁfﬁl

26) Heat is transferred in air and water by: /

IR T A | ST BT RIHGRT 1 & g1 fovan siran 8:
1. Radiation only/mﬁw

2. Either conduction or radiation / T A AT gIRT 4T fafdxor
3. Conduction onIy/m?ﬂ?ﬂ

4. Convection only /WW

Correct Answer :-

« Convection only /WW

27) A good daylight’s illumination is: /
& & vt 31 3T wu A B
1. 300 lux

2. 100 lux

3. 400 lux

4. 200 lux



Correct Answer :-

¢ 400 lux

28) How are voltmeter and ammeter connected in a circuit? /
gfde A dieetier g wiiter FA &S o 82

1. Voltmeter and ammeter are connected in parallel and in series, respectively to the device whose voltage and current
are to be measured. /

Jreetie 3R MR HH: GHFR H R JRaar 7§ 39 fSargy I IS 7, foryes! deest 3R 4RT {07 ST & |

2. Voltmeter and ammeter are connected in series and in parallel, respectively to the device whose voltage and current
are to be measured. /

reeHier 3R AfHeR HA: PRI H 3R IR § 39 Sy I 92 &, ST dieest 3R 4R A9 ST & |
3. Voltmeter and ammeter are connected in series to the device whose voltage and current are to be measured. /
JrecHier 3R e yaar H 39 fEarsy IS €, o diees iR URT AT ST ]

4. Voltmeter and ammeter are connected in parallel to the device whose voltage and current are to be measured. /

JeeHiex 3R AR THFMR § 39 fEasy I 92 €, ot dieest 3R 4RT AT ST 3|

Correct Answer :-

« Voltmeter and ammeter are connected in parallel and in series, respectively to the device whose voltage and current
are to be measured. /

FrecHie’ 3R HHER HH: FAMIGR H 3R yae & 39 fSarzd A 93 &, foriesT diees 3R 4RT {197 ST 3 |

29) Under what conditions are screwed conduit circuits used? /

=1 1 3 frw fRufa o wpe sy afde &1 IuaT fear srar 82

1. Voltages between 250V and 600V / S8 dleesl 250 V 3R 600 V & He B
2. Voltages less than 250V / S dleeol 250 VI HH BT

3. Voltages above 100V / Td dieed 100V Y &ma

4. Voltages above 600V / S A 600V T IfJp 63[

Correct Answer :-

« Voltages between 250V and 600V / 1§ dleesl 250 V 3R 600 V & e B

30) The circuit breaker that takes minimum time for installation is: /

STAR | <gFaH J9T A+ are afbe dae =
1. Minimum oil circuit breaker / TlHH 3ifad Afdhe o
2. Air blast circuit breaker / TR &XC ‘v'IﬁTc' Slch

3. SF6 circuit breaker / SF6 Tfhe A

4. Bulk il circuit breaker / ¢ 1T Ffhe SH

Correct Answer :-

o SF6 circuit breaker / SF6 ‘v'lﬁv_crw



31) What should be the minimum height at which the overhead lines that supply power to tramcars are installed? /
TSR] B UTaR HET§ B dTell SRS AEH Bt JAdH SHATg fHa-t giet 82

1.2m/2°H

2.10m / 10 |t

3.4m /4

4.8m/8 Ht

Correct Answer :-

« 10m/10H

32) Which type does an X-Y recorder belong to? /
x-v RpeR i yoR & frais & wafta 32
1. Digital recorder / f&fTed RepTex

2. Oscillographic recorder / &m’ﬂmw
3. Magnetic tape recorder / ARfes e Raplsr

4. Graphic recorder / TTfthes NpTSR

Correct Answer :-

« Graphic recorder / Tfthes NepTex

33) is used to measure frequency. /

BT ISUURT Wi &b AU & e fpar sman g1
1. Maxwell’s bridge /ﬁﬁﬂéﬂ%ﬁw

2. Heaviside Campbell’s bridge / Sdnl%llss EREI] Irgls\\?l

3. Schering bridge /Wﬁgﬁf

4. Wien’s bridge /é?%%@x—:r

Correct Answer :-

« Wien’s bridge / 39 & FQ’C{\_YT

34) is usually controlled by a turbine and a governor. /
DI A FU ¥ T84 941 T e | frafia fear smar 31
1. Power factor / UTaR ThaeR
2. Current / YRT
3. Frequency/m
4. Voltage ) At

Correct Answer :-

. Frequency/ﬂ'ﬁﬂé@



35) is the difference between the true or exact value and the measured value of the unknown
quantity. /

TPt argra TR &7 areafaes a1 e 71 aUT 9T MY A SR BT 3
1. Absolute error /ﬁﬂﬁ&‘fﬁ
2. Percentage error / Ufa=Tddl Ffc
3. Relative error / TTUI&® FfC
4. Limiting error / waﬁ

Correct Answer :-

« Absolute error /ﬁ@&fﬁ%

36) If a phase sequence indicator rotates clockwise for a phase sequence of RYB, then what happens when the phase
sequence is changed to BRY? /

Tfe u et W d, Ry & ol Hiedq & R ot Y g€ oY f3zm & qwar 2, & w1 ghar @ oie e Nedw
BrY # gRafdd gar 82

1. It will not rotate. / Tg g gET|

2. It will rotate anticlockwise only. / I8 Hdd ge! B! g B! [qURId fa=mm & gam|

3. It will rotate clockwise or anticlockwise. / T8 8! 1 g B! [a=1T T AT TS! B g B! [AURId (G H FA|
4. It will rotate clockwise only. / I8 Hdd T BI s HI f=m & g

Correct Answer :-

« It will rotate clockwise only. /ﬂgmﬂ@ﬁaﬁﬁgﬁmﬁ@"ﬂl

37) Why is electric braking preferred? /

safaee AfHT &) adtaar w4t & w82

1. Because it avoids wear of truck /W%Wﬁ@ﬁﬁ@ﬁﬁﬂ%l

2. Because it is instantaneous /WWWW%I

3. Because heat generated is more /atﬁ%aﬂﬁ Wmmﬁ?ﬂ%l

4, Because the motor continues to remain loaded during braking / azhﬁﬂﬂatma%ﬂ%am i WWT&'HT%I

Correct Answer :-

« Because it avoids wear of truck /a@rﬁ?u's'waﬁ TS A @ﬁ'ﬁ‘ﬂ%l

38) How is hunting prevented in a synchronous motor? /
Rispia Hiex # e 9 At wreft 22

1. By using accelerators /Q@ma'?mﬂml

2. By using dampers /%mﬁaﬁmﬂvml

3. By using exciters /W%WWI

4. By using oscillators / m%m’[ml



Correct Answer :-

o By using dampers /émﬁé?:mqhml

39) How is a ballast resistance connected with the choke? /
TP JAe IR 91 A B4 ST 8141 82

1. In parallel only/mﬂﬂ'ﬁiﬁ?ﬁ

2. Either in series or in parallel jara mﬁmwﬁ
3. Not connected directly /@Qﬁ@%ﬁ?ﬂ%

4, Serially only /WW

Correct Answer :-

« Serially only /WW

40) What type of rotor is used in a high speed alternator? /

S 916 AT AT (Seeex) | - | | f5d UoR & Jex o1 IuaT fasan Sirn 82
1. Salient pole type /@'i%‘f&lﬁthﬁagq

2. Squirrel cage type /Waﬁ[?@

3. Phase wound type / WGTGS’ETEU

4. Non-salient pole type /q\ﬁ-@ﬁ&ﬁmﬁ?@

Correct Answer :-

« Non-salient pole type /?iﬁ@%@i‘c’lﬂaagq

41) What type of starter is used in a high rating slip ring induction motor? /

= ¥ A 59 PR & WX &1 U 3= T ard ey 1 Seamm wiex | fpar wrar 22
1. Rotor resistance starter / @a?ﬁl@ﬂw
2. DOL starter / DOLE’I’(_;T

3. Star starter / ¥R ¥WIEX
4. Autotransformer starter / 3{IC Eh.ﬂ IFR TR

Correct Answer :-

« Rotor resistance starter / ilaq ?ﬁl@ﬂ I é?

42) Which is the color of light emitted by the sodium vapour lamp? /
HIfSTH ary A7 GRT SHd YT BT H S A1 32

1. Green / BX]

2. Yellow / e

3. Blue / e

4. White / g



Correct Answer :-

e Yellow / o

43) The most important cause of power loss in the transmission line is: /
TeRur @1 W fagga wifed g1f &1 Jad Aeayuf sRUTe:

1. Resistance / TRy

2. Capacitance / eTiear

3. Inductance / IR&d

4. Admittance / T

Correct Answer :-

¢ Resistance / TRy

44) In an underground cable, the insulation thickness mainly depends on: /

S YA Sea #, AR g EIE . winkad el
1. Reactive power flow / UfdfehaTRid e Warg

2. Load current / HTRd faggd 4rT

3. Operating voltage / TR dieedl

4. Real power flow / AR<Id® fdd U@

Correct Answer :-

o Operating voltage / gRETE dieedt

45) 8051 Microcontroller has __ number of 16 bit registers. /
8051 ATghI s W 16 e A FIT@T___ 21

1.2

2.3

3.0

4.1

Correct Answer :-

o« 2

46) Fault tolerance of SCADA system means: /

SCADA WUITel F} G Tg-i=fierar &7 ared 8:
1. Ability to restart running applications / Tl ® m Eal Wﬁ” P DI &
2. Ability to recover communication connection / TR Tl Bl m@f P B &HdT

3. Ability to connect with many I/O devices / 3P /O IUHRUN § IS B P &I

4. Ability to manage and coordinate system errors / ey _a’%fﬁ BT YSYT 3R JHTT B P &

Correct Answer :-



 Ability to manage and coordinate system errors / Ry m P YUY 3R THTT HRA DI &HAT

47) Current in a transmission line under no load conditions is due to ./
BIE WR 511 o UM H, T HaRor Ars 7 U S PRUGIA B

1. back flow from earth / qtfﬁit d19y Ydle

2. capacitance of the line / Fﬂ%:raﬂ %ITﬁ_clT

3. corona effects / HRIATUHG

4. spinning reserve / UISh Ul T

Correct Answer :-

« capacitance of the line / ¢IIg P YTiRd

48) Ten times change in frequency is known as: /
g & 10 A1 uRad= f=T & =0 & 9T ST 8:
1. Cut-off frequency / Fe-AP Wiga!

2. Gain / €IH

3. Decibel / SRITA

4. Decade / GRIh

Correct Answer :-

« Decade / QRIH

49) Induced EMF in a DC motoriscalled ./

B I ARANMNGSTHUE I FeIw@Igl
1. Front emf/q'i_crg'@w

2. None of the above / s:n?r | ﬁé 7‘|_E)pf

3. Back emf/ §b %QTIW
4. Generarated emf/ SFRCS EFQTI'QW

Correct Answer :-

« Back emf/ §% SUHUG

50) A flow of 1,00,000 electrons per second constitutes a current of: /
Afd ABUS 1,00,000 SATEIAI BT YATE faggaymT &1 fAafor wrar 21

, 16> 104A
, 1.6x 10144
3. 32x107M4A

4 32% 10MA



Correct Answer :-

1.6x 1071A

51) With change in load, the magnitude of change in terminal voltage of an alternator depends on )

YR # qRadq & 1Y, yrafaa & e a dieear A uRada sruamr . winRk sargl
1. both the load current and power factor / yiRd ﬁﬂ:ﬂﬁ YRT 3R Ufda Ulh gl

2. the voltage rating of the machine / TR & dieedr e

3. the load current only / Had HIRd ﬁ?{{{a YRT

4. the load power factor only / Fad YIRd fad 0T

Correct Answer :-

« both the load current and power factor / H R ﬁ?{ﬂﬁ YR 3R fd IUlh gl

52) Alternators are usually designed to generate power at i
A P HAFRFUY_ WR fad Saa a3 & fog wuifea fearmar g
1. particular power factor / fafRry wifad uew

2. particular frequency / faRRry 3’”@'&'[

3. variable voltage / URad=d diecdl

4. variable frequency / gRad=ia \’rﬂq%

Correct Answer :-

« particular frequency / fafery &ﬂ?{%

53) Aluminium is preferred to be a bus-bar material because of .
TegHifas &Y A & SR 99-9R ARaa & =0 A adtgar & ot 8:
1. its low cost / W DH AdNTd

2. its low density / b Y Ygqqd

3. non-availability of copper / GICE:] S{JUcTS-dT

4. the case of fabrication / BISHTH & B

Correct Answer :-

« its low cost / BT HH AN

54) Transformer operates on the principle of between two coils. /
TG gl Higed & 7H ¥ Rigid R Harferd ST 21

1. binding / STSI&T

2. magnetic field / W &

3. duality / §aTG

4. mutual inductance / TRTIRE URUT



Correct Answer :-

« mutual inductance / TRER UROT

55) is measure of closeness in shape between a waveform and its fundamental component. /

ATEIH 93U YA Ued & A ATHR § Fwecar St am g
1. Total harmonic distortion / e BTHITD [STIR
2. Harmonic factor / m o

3. Lowest order harmonics / F‘ﬁw 3SR Eﬁﬁ?\q
4. Distortion factor / f&TeT=H thaex

Correct Answer :-

« Total harmonic distortion / Glcd gTHI® feTe IR

56) must be decreased to increase the capacity of a transmission line to transmit power. /
P g1 ITRY Forad Wfed & TaRuT & I TRor a1 &1 s 3 gig Y 9 |

1. Resistance / ufeRiY

2. Capacitance / T

3. Line inductance / dIg BT NP

4. Voltage / Eﬁé\_ﬂ

Correct Answer :-

« Line inductance / dIg- CARRG T

57) display consumes least amount of power. /

W& %9 A FH fAIgyd &1 STaRT Har gl
1. LED / T8l
2. Thermionic / Y&
3. Fluorescent / TARIGC
4. LCD / et

Correct Answer :-

. LCD/QE‘IF‘ Sl

58) A 100 kVA, 3300/440V, 50Hz, single-phase transformer has 90 turns on the secondary winding. Assuming an
ideal transformer, the number of primary turns is: /

TS 100 HAIT, 3300/440 TIeT, 50 T, ThHA-Bor URvontae § fgdtas guma uR 90 H¥ &1 39 T et
o A gu, wrufire B @t e e 8

1. 180

2.2970



3.675
4. 338

Correct Answer :-

. 675

59) Star-delta starter is used for starting ./

WR-STT ARYS BT IUART IR= B & o faan wmar 21
1. 3-phase induction motor / 3. 3335217{ ez

2. universal motor / qﬁaﬁa e

3. stepper motor / TR Al

4, 1-phase induction motor / 1-Thof TeRMH e

Correct Answer :-

« 3-phase induction motor / 3. TSRM e

60) Mass, volume, energy, enthalpy and entropy are thermodynamic properties. /

SOTHTH, A, Seil, QUi 3R ufvera SRS Turert g1
1. specific / ﬁfiﬂg

2. intensive / 7Tg

3. extensive / U

4. intrinsic / RIGIRGE

Correct Answer :-

« extensive / YD

61) A filament lamp is rated 120V and 80 Watts. The value of series resistance required to operate this lamp on a
230V mains is ./

TS g AU BT 120 dlee, 80 are W Fruifva fear mar 31 230 diee gRe1 @13+ W 39 A1 $ JAferd A &
1T smaxa® @ ufaRiy o1 A= gl

L 180 0Q

=
5. 165 02

3, 661 02
4. 151 &
Correct Answer :-

165 02

62) A 24V power supply used for a lighting system can provide a maximum output current of 2A. The lighting
system is designed using 0.5W bulbs. The maximum number of bulbs that can be connected to the power supply



without exceeding 80% of its maximum power is ./

TS YBT HIRIT & fog ST 3t 91 areft 24 diee Afwt smyfed 2 vafR &t siffeaw fnfa fagga arT #t
TS B AHdl & | THTR Taw®T B 0.5 e goa] BT ITGNT $Y%b (3oig a1 741 8 | Tesl @5t sifireaw
T Wil i 3Myfef & ITST Siftrpaw xfad o1 80% | 3if¥e fre famm Tuifoa fre smawa €, gl

1. 50
2.80
3.96
4.76

Correct Answer :-

. 76

63) In choke input filter circuit, the first element is ./

e 57Y¢ fheer Afdhe ¥, yyu aa e giar @:
1. register / RS

2. diode / SIS

3. capacitor / HIRR

4. inductor / $8dcX

Correct Answer :-

« inductor / $8aX

64) What happens in a buck regulator? /

TP 99 Fae (% Jaex) d T8I 82

1. The voltage across the capacitor is zero. / YR & IRUR Jleedl I Eﬁ?‘ﬂ %I

2. The voltage across the diode is constant and continuous. / SRS & IRUR dieedl fRad 3R fARaR Eﬂ?‘ﬁ %I
3. The output current is constant and continuous. / ffa ﬁ’{ﬂﬁ‘éﬂﬂ rd ek FRaR Eﬁ?ﬁ %I

4, The input current is constant and continuous. / fAafra ﬁagaum aa Gﬁ? R _@?‘ﬁ %I

Correct Answer :-

« The output current is constant and continuous. / ffa ﬁ?{ﬁaﬂm rd ok PR Eﬁ?ﬁ %I

65) What happens during regenerative braking? /
TSl 3R (RerRfed afbm & R s glar 82
1. The DC machine acts as a generator /

S T v Wi & &0 H ef et 3
2. The DC machine acts as a motor /

S 7RI Th Ak & U & B Bl g

3. The back e.m.f. of the DC machine is less than the applied voltage /



SR A2 &1 Uy $.TH.U®. 3RIUd dlicedl 4 HH G5
4. The back e.m.f. of the DC machine is equal to the applied voltage /

SR A= BT Uy $.0H. U, RIfUd dieedl & A gidT g

Correct Answer :-

o The DC machine acts as a generator /

SR AT U WifF & U H BRI Rl B

66) What happens in freewheeling diode in a single-phase semi-converter? /
T THa-Ho . uRads ¥ BiEiR sris d wr g
1. It assists regenerative operation with a DC motor load. /
SRR Hier YR & 1Y §RedTed URETa &1 GgTadl SRal 8|
2. It increases reactive power drawn from the source. /
i & o g3 ufaforarfia 2fed &1 Jgran ol
3. It makes DC load current continuous. /
SRt YR fIggdyRT &1 Tad FaT 8|

4. It makes DC load current discontinuous. /

SR YR fIggauRT &Y SRIad HRaT 7|

Correct Answer :-

« It makes DC load current continuous. /

SR YR faggayRT &1 Tad FRar g

67) What is voltage swell? /

s W 12

1. Dip in frequency of voltage for few cycles / P& qeh| & [OTT Alecs] Bl \’fqu'ﬁ‘T T IdR
2. Dip in magnitude of voltage for few cycles / P& Il &b fam dlees & gRAT & IAR
3. Rise in magnitude of voltage for few cycles / P& Thl &b T%I'Q Jieedl & gRAToT q@
4. Rise in frequency of voltage for few cycles / P& TqhI D ﬁmaﬁéﬁr Gl Gﬂ@ﬁ[ o q@

Correct Answer :-

« Rise in magnitude of voltage for few cycles / P& TIohl & T diees & afkAmo & q@

68) What is the short circuit current of an alternator dependent on, if a line to line fault occurs? /

gfe arg ¢ a1g I urs STelt B A Sreferie} &1 WS Hihe wie fHa w Ak ghme
1. Inductive reactance / 33% Wﬂ
2. Synchronous reactance / Ripg ﬁqm

3. Transient reactance / € e I?Q@éﬂ
4. Short cireuit resistance / X¢ fPpe Iorged



Correct Answer :-

« Synchronous reactance / IBEARE QQ@ oY

69) What is the internal voltage drop in an ideal constant—voltage source? /
TS 3Tex Faa-aiees wia § iiafve diees g7 132

1. Variable / tlﬁ_d?ﬂ"

2.0

3.1

4. High / 3=

Correct Answer :-

70) A 3-phase, 440V, 50Hz supply is applied to a 3-phase, 4-pole, 440V, star-connected induction motor. Under full
load condition, the operating slip of the motor is 0.05. Find the frequency of the rotor current. /

TS 3-1el, 440 TIeT, 50 T MYl 3-BT, 4-§d, 440 Alee, WR-YUIOTT U1 Hier W R gt 81 quf UR
ot fRUfa & a5, diex Bt ulvarer f&ay 0.05 81 657, Aex fagga w1 ot smafy A 8:

1.2.5Hz / 2.5 §eol
2. 22Hz / 22 B¢

3.0.2Hz / 0.2 B¢
4.5.0Hz / 5.0 8ol

Correct Answer :-

. 25Hz/2.58S

71) Hooke's law is obeyed by every material up to i
TS AT R §F & Fraw &1 f a& srgure fovan siran :
1. yield point / dieg Uige

2. fracture limit / TraeR faIfie
3. viscous limit / [a¥ep g ferfie
4, proportional limit / PUINERIGE

Correct Answer :-

- proportional limit / oeid fafie

72) If two equal resistances connected in series across a certain supply are now connected in parallel across the
same supply, the power produced will be that of series connection. /

gfe fareht smyfd & Soft wu & Taifora S gum ufoRty sra S nyfed & wuHIaR w0 A 1S W €, @Y A
fagga i goft St &1 Huifl

1. equal to / FHIT



2. 0.5 times / 0.5 T[T
3. two times / &I RIS
4. four times / AR T[T

Correct Answer :-

« four times / IR AT

73) If the mechanical power input to the alternator is increased but the excitation is kept constant, then

/

g yearafaa o gite Afed Fawr ag 9Tt § A= e FARaw wedt 8, o
1. the reactive power output will decrease / yfaftraria xfed St J HHT et
2. the reactive power output will increase / yfaframita ufea Jdlgd " Q'@ E?Fﬂl

3. the real power output will decrease / IRATa ad IdTe- H HH ST

4. the real power output will increase / IRdfde Ufad IdeT | Q@ gt

Correct Answer :-

« the real power output will increase / JRafae ad Idre o Q'@ SRl

74) 1If the speed of a DC motor increases with load torque, then it is a ./
Tfe YR 3mgul & Ty SRA Hiex #) ard 9¢ w1t 81 Y a8 P gl

1. DC shunt motor / SRt vie Iﬁ??

2. DC series motor / SR goit Aiex

3. DC cumulatively compound motor / St Tt HTIUS Hiex

4. DC differentially compound motor / St O HHT3US Hiex

Correct Answer :-

« DC differentially compound motor / ST fiF HIT3vs die”

75) Which of the following logic circuits offers high speed operation? /

frafafeEa 4 & o1 a1 a& aRuy 3= 91 TReEre Uer ST 82
1. Transistor—Transistor Logic / gif\\ﬂ%C{ - Q'IRYNC‘{ L3

2. CMOS Logic / HuAsiey ad

3. Emitter—Coupled Logic / TN - ?Iﬁil_d ab

4. Diode Transistor Logic / SIS ETW GEZ

Correct Answer :-

« Emitter—Coupled Logic / I - g&lﬁ GEg

76) Which of the following conditions is NOT TRUE for a series RLC circuit at resonance? /

3FATE TR US 4@ RLC URTY & frg Frafofea & & o1 o fRufa w8t 78 82



1.Z=R

2. Power factor is unity / fad pluca W@ %
3, 27i%

4, X=Xc
Correct Answer :-

Z=j%

77) Which one of the following is NOT an active element? /
e & @ o a1 aftea aa T8 82

1. Current source / 4RT &1 Al

2. Resistance / TfcRTY

3. Voltage dependent current source / e R 1R yRT BT
4. Voltage source / diee &1 A

Correct Answer :-

« Resistance / Ul

78) Which category does a Pelton wheel belong? /

Uoed wid o it & Hafia 82

1. Reaction axial flow / RUTRM Tfaqsia vt

2. None of the above / m ff @ aﬂ‘s‘ 7‘|€f

3. Impulse tangential flow / T iR et
4. Impulse axial flow / S Q'@:Bﬁ’f Tl

Correct Answer :-

« Impulse tangential flow / ST iR wat

79) The power semiconductor device used in three-phase fully controlled rectifier fed DC drive is ./

TifeT srefaras IumRr st fob diF-e got frifaa fRpert wRur it ssa A v g g, gl
1. IGBT / 3MTSoiae
2. Power BIT / XIfad dfoe!

3. Power MOSFET / Qifad TH3NTHUHS L
4, Thyristor / YRR

Correct Answer :-

« Thyristor / YTARTR



g T for IR RSP HIeX BT DI &7 Ul Hdl 5, I & U § S Srdt
1. effective / THTa
2. shaft / RITHC

3. synchronous / Wﬁ?ﬁ
4, slip / Uy

Correct Answer :-

« synchronous / JedbIIeidh

81) The rate of doing work is called ./
PAPEAPI RS Pedal

1. energy / St

2. power / e (W?If)

3. current / YRR

4. voltage / dieedl

Correct Answer :-

. power/ﬁ @l’qﬂf{)

82) The suitable motor for constant speed operation in cement manufacturing industry is ./
e fafmtor Sei & fFReR are warem ¥ R Suged weR gl

1. DC series motor / Sl %[@WITII}I?T

2. Three-phase synchronous motor / dH-ts W e

3. Single-phase induction motor / W—W aTUT ﬁa

4. DC differentially compound motor / St i Tgad e

Correct Answer :-

« Three-phase synchronous motor / dH-ts Wm i}

83) The resistance offered by one layer of fluid over the adjacent layer is known as: /
A P TP U BT AT Ud TR T 147 ufeRie A wgerar g:

1. Viscosity / GTdl

2. Compressibility / Huteaar

3. Density / U

4. Bulk modulus / YTep HTUIH

Correct Answer :-

« Viscosity / YTl

84) The current gain value of common base configuration is ./



BIH o BIFPIRTA Bl e 1 deg [+ It 8:
1. less than unity / t‘[ﬁ_cpf SE2

2. greater than 20 / 20 ¥ 3P

3.10

4.20

Correct Answer :-

« less than unity / EIJEI_CP[ SE2

85) The ratio of drain current to gate voltage is .

ST PIicaeT R gua gl
1. register / RS

2. transconductance / mﬂ

3. current gain / CaGRIE

4. voltage gain / Jlees 79

Correct Answer :-

« transconductance / mﬂ

86) During the change of phase from liquid water to vapour at a constant pressure, the remains
constant. /

RRITRRATAA TP YA S IRGATI S SRE_ RRIgarg|
1. volume / T

2. energy / oIl

3. temperature / dTJHA

4, mass / SSJHI

Correct Answer :-

o temperature / ATJHIT

87) In a common collector amplifier, the voltage gain is: /
TS I U Uade §, dieearary @1

1. Varies with load impedance / HR UfaaTem & I1y gRacd-1a
2. Varies with input voltage / a1 dieear & Iry uRkad-a
3. Constant / R

4. Lessthan1/1 JpH

Correct Answer :-

e Lessthan1/1 JHH



88) In a star-connected system, the phase angle difference between line and phase voltage is: /

TR-Hifo Ao #, a5 iR bl dicedl & A bA SIS §l
1. 30°
, 120°
5, 60°

4, 90°

Correct Answer :-

89) In a single phase full bridge inverter, which of the following relations is CORRECT? /

o RivTe e ® B figw gad, fFafefed & @ o9 a1 dey a8 82

Y, s
1 R
2. Vims = Ve
\F’
\;Imi 5 _G
3. g
PALY
.Vrma = =
4 1

Correct Answer :-
‘V'rms = v-dc

90) Which of the following is/are TRUE with respect to the closed-loop control system?
(1) Feedback element is present.

(2) Maintain the desired output by comparing it with the actual input.

(3) Error detector output is always more positive. /

de-ur=r fAiror yurreft & way A Fafafaa S arRA s I
(1) wfagfd aca IufRE B

(2) IRAfI® A= &A1Y GaT HS qifed fFArfa s9e @ dt 31

3) T TE® (TR feeaeR) fArfa go=m eiftre u-Ters gar g1

1. (3) alone / THHATH (3)

2.(2) and (3) only / Had (2) 3R (3)
3. (1) and (2) only / T (1) 3R (2)
4. (1) and (3) only / Had (1) 3R (3)
Correct Answer :-

« (1)and (2) only / BT (1) 3R (2)

91) The lamination thickness of a rotor should be selected from to minimize the eddy current loss. /

3Tad YRT P BRI DI gAqH B & foT Iex F ARFRE 31 Mers ¥ gt It ARl



1.3 mm to 4 mm / 3 T0 9 4 foreft

2.0.9 mm to 1.0 mm /0.9 Toreft & 1.0 foreft
3.0.4 mm to 0.5 mm /0.4 Tt & 0.5 fordt
4.0.1 mm to 0.2 mm /0.1 i T 0.2 fiyet

Correct Answer :-

e 0.4mmto0.5mm/0.4 ﬁﬂ:ﬁ‘v}f 0.5 oy

92) In purely inductive circuit, voltage lags currentby ./

[ 0 A Wb TRUY § Gieds 1 & gRTURT S A dear gl

60°

4, 30

Correct Answer :-

80°

93) When does the transmission efficiency increase? /

TRYY HRIeaT H gfs #9 giedt 82

1. When the voltage increases and the power factor decreases / SI§ Eﬁm ff Q'@ Eﬂ?‘ﬁ % 33? tITTﬂ %b_OET ﬁ W Eﬁ?ﬁ %I
2. When the voltage and the power factor increase / OI§ Jleeol 9 UTeR haer | Q'@ gt % I

3. When the voltage and the power factor decrease / Sl giees g UTaR Thaex § ! gt %I

4. When the voltage decreases and the power factor increases / SId deesl H HH @_Cﬁ % GﬁT iR aﬁET A Q'@ a?ﬁ %I

Correct Answer :-

» When the voltage and the power factor increase / SIdl Jieew g UTaR Thaex | f{@ Eﬁ?‘ﬁ % I

94) The flag bits of register are affected when arithmetic operations are executed in 8051
microcontroller. /

8051 ATEh! T § 99 Sipmfordiy ufvema fAarfed gd & a9 IR & T fae yuifaa gia 81
1. SP/ THYt
2. DPTR / SIUIEIR

3. PC / U
4. PSW / Ui S sy

Correct Answer :-

. PSW/UITgE sy



95) The unit of Power is: /

TR (UTeR) $ 318 1 gl @
1. Volt / Al

2. Ampere / TR

3. None of the above / 3?& @f ﬁ_sc '_-|_Eﬁ

4. Watt / dfc

Correct Answer :-

. Watt/dlc

96) In series—parallel combination of resistance, the minimum number of resistance requiredis . /
iRy & Aoft-THiaR B9 & WaioE 3, Uiy &1 gAad AaRad IBI gl

1. one /U

2. four / IR

3.two/ 33f
4. three / T

Correct Answer :-

« three /T

97) The dielectric constant of a impregnated paper insulationis ./
RS TR SO o1 URggfa® fRRT® e giar &:

1.2.5

2.3.8

3.35

4.4.3

Correct Answer :-

98) A voltmeter has a range of 0 — 10V and an internal resistance of 100 kQ. How can a single

resistor be connected to this voltmeter to extend its range to 0 — 30V? /

T dlecHle & WE 0 — 10VE 3R 388 100 kQ &1 JaRkes afaweT 81 59
diecHey & WA & 0 — 50V O Jeled & [OT 599 Ud UTdhd Uiaiied & $:9 ST
ST Hehal 27

500 kQ shunt / 500 kQ 9T
400 k€ series / 400 kQ Aofr

3, 500 kQ series / 500 kQ AUir

400 kQ shunt / 400 kQ 97T



Correct Answer :-

400 kC series / 400 kQ Aot

99) The given table gives the open circuit test results on a DC generator at rated speed. The residual

voltage of the generator is i

& 7 et FrefiRa e & SR SRER TR g TREH TEeT RO e
FAr §1 AN T Hafie drees (A drees) 21

Field current, A / Open circuit voltage, V /
&4 faega «my, A | fagd aR9y dieear, v
0.0 1
0.1 40
0.2 85
03 125
1. 10V
2. 15V
3.40V
4. 20V

Correct Answer :-

o 15V

100) The maximum peak emitter current of UJT at 25°C is: /

25°C WX UIT &7 #f5aas 9 v axe & giar &

1. 30A



